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:\/\/hatdolneedtobeable
| to do?

Congruent: The same

By the. end of this unit you should be. able to:
Recal area of basic AD shapes

Pi (7r): The ratio of a circle

tt is important to round your answer suitably — to significant figures or
decimal places. This will give. you a decimal solution that wil go on forevert

QOrea: Space. inside g 2D object
Perimeter: Length around the. outside of a AD object
s circumference to its diameter

HEOMETRY. ..

Orea of trapezia and Circles

I

I

I

|+ Fndthe areaof a rapezum Perpendicular: Ot an ange. of 90° to a gven surface

| * Findthe area of acirck Eormult O\ mathematical elationshiny 10 CEabyh- ¢ octonc/

|+ Find the ares of compound shapes omula: O mathematical relationship/ e given in symbok Eg b x h = area of rectange/ square

| = Find the perimeter of compound shapes Infinty (0): O number without a given ending (too gredt to count to the end of the number) — never ends

I Sector: O part of the circle enclosed by two radii and an arc

e e e ol e e |

r~ -~ -~ .. - - - - - - - - - -"7——-"7——-"7————— a

| Orea — rectangkes, triangkes, paraleograms @ :

| Rectange Paralelogsam/ Rrombus . Trarck O triandke is hatf the size of the |

| . 1 9 | rectangle it would fit in

| Bose x Height | Base X Perpendicubar height : % X Base x Perpendculr height e 9 :

| : t

| l |

L |

—_————— _ ________________ mr-r—-—--—-—-—-——-—-—n-—_-—_——_—_-——_-——n-——_——————

: Orea of a trapeziom b I Compound shapes :

I Orea of a trapeziom /+ N |: To find the area compound shapes often need spltting into more. manageable. shapes first I

I (a+b)xh :l Identify the shapes and missing sides efc. first |

I 2 a I I 5cm I

: Whiy? * Two congruert trapezioms || oo sem? fﬂrﬂ - losceles :

make a paralelogram st ' e rapezum
: / h\ / o Newlngth (a+ b) x heigit |l ! i — rem :
| > * Duide by 2 to find areai of I: 5om | j12cm : 31%/ |
a | + ! 5em | H124m - Shape B~ nonstandard
________________________ | ' pezium
r-—-----—--—--—-—--—-"\—-"\—-"—"—"—"—— il e ¢ i I
. 7cm P ———

I Qreai of a circke (Non-Calculator) I 7em Unts |

I I [ ) |

| | Shape. R + Shape B = total area |
Read the question — leave. in Orea of a circle | G754+ (BeBxT -4+ 45.5 - 69.50m I

: terms of 7 or f 7T =3 (provides | 7T X radis? ﬁ :l B T ’ - I

| an estimate. for answers) | I_ ______________________ a

: Diameter = fm : : Compound shapes inchding circles :

| = Rads = 4em ) Crount Compound shapes are ot alwaus dreai questions |

| / Radis = 4em | reum erert\ce <— For Perimeter you wil need to use the |

| Iy | 7 X diameter

| X radus? Find the. area of ﬁ dem | : circumference :

- 2

| -mx4 one quarter of the | Spotting dameters and radi I

| -mxlo circk Circk Orea = lorr cm® 1 |

L= l6rr cm? Quarter= 41 cm? : : ( s . :

_______________________ 4

T U S 1 TR T T N

: Oreai of g circe (Calculato r) | : I:lcslei\mem\on is ako the digmeter of the semi :
- I

| '% | Don't need to hale. this becatse th |

SHIFT | - onl need (o nave this ause tnere

I Orea of a Circe I | Oc enghs ZTGZ o4 are 2 ends which make the whole |

I — 7T X radiss? ﬁ | I T circk O |

I | I Oo |

| How to get 7 symbol on the | I i I

I cabulator | | Orc lengths + Straight kengths = tolal permeter |

I | | I

| | I |

I | | I

| | | |

| I |

e e e — — — — — — — — — — — — — — — — — — —

=04m+ B0+ |

. ;52; Gion m5 0 Stil remember to spit up the

0k -5011m compound shape into smaler more
= manageable. individual shapes first




YERR & - DEVELOPING GEQMETRY. ..
oo e ANGIES 1N pamlkzl ines and polugons

'Whatdolneedtobeable
:todo7

| Bg the end of this unit you should be able to:
| ldertify atterndate angles

| ldertify corresponding angles

| ° ldertify co-interior angles
I
I
I

*  Find the sum of interior angles in polygons
*  Find the sum of exterior angles in polygons
*  Find interior anges in regular polygons

I | Poralel Straighnt Ines that never meet

I Ongle: The figure formed by two straight nes meeting (measured in degrees)

| Transversal: Ol Ine that cuts across two or more other (normally paralel) nes

| lsosceles: Two equal size Ines and equal size dnges (in a triangle or trapezium)

| Polygon: O 2D shape made with straight Ines

I Sum: Oddition (total of al the interior angles added together)

: Regular polygon: Oll the sides have equal length; dll the interior angles have equal size

T S I

II Par albl ﬁﬂes Stil remember to look for angles on

straight Ines, around a point and

The ktter in the midde s the angle
Tre arc represents the part of the m@k |

8 ines tht bisect thy lel |
: \ Ocute Ongles Right Ongles 2 w l | | _ verticaly opposttel fres thl bsect the parcel i) :
0°< ange. <90° a0° : c [l |
: . Ol ?Q?i ng‘\:geé L:&tﬁ;sohBO | : Correspondng Otterndte angles |
| / 90°< angle <180° Right. angle. notation Lire Notation: two ktters EC I | anges often — o{ten'\denhﬂed. by I
— |1 identified by their their “Z shape” in
I The Ine that joins € to C . . |
I | “Fshape’in posttion |
I /_W Reflex Straight Lire Verticaly opposte anges | poston |
AT ande <360°  180° Equa [l I
| / — les arownd g point 1 |
| 360° o e o
Ottematte/ Corresponding andles Co-interior andles ;2;? |
A N
30} Because atterndte angles are - B Becavse conterior angles have
equal the highlighted angles are cxX 70 asum of 130° the highlgnted 'j

the same size
150°

Because corresponding dangles
are equal the highlighted angles

I

I

|

|

ange s 110° |
G |
I

I

|

|

Os andes on a Ine add up to 180° co-interior angles can dlso be

I
I
I
I
|
I
I
) . I
are the same size cakuvlated from applying atternate/ corresponding rukes first NN ] |
——————————————— A ————— ===l e e e e e e e e
Properties of Quadrivterals I Sum of exterior andles . |
| p Paraleloaram I Exterior anges all add up to 360°
Square Oppostte sides are pardlel || |
| Ol sides equal size Opposte anges are equal Il |
0ll angles 90° Co-interior anges I sing exterior andes |
Oppostte sides are paralel ) |
2ect —<—— Trapezim I Exterior Ongke |
j ol an @ég a / | One par of paralel nes :: "\ teror ange. + Exterior ande - straight ine = 180° |
; — Exterior ange = 180 — 165 = 15°
0 d [
pposite sides are paralel % o 1| Extedr Orges 65 o N . |
hombis o paralel Ines | J\L& e the ange formed fom  tericr O Number of sides = 360° =+ exterior angle I
R Equal kngths on top sces 1l nierior Unge Number of sides = 360 + 15 = 24 sides
| Ol sides equal size | the straight-ine extension |
Equal kngths on bottom sices 1]
| N\ Opposite anges are. equal One pair of equal andes " at the side of the shape |
e e e e e e e e e  ———— — — — — — — — — —— — — — — — — — — — — ——— Jd
s |
' Sum of interior angles frumber of sides — 2) x 180 I Missing andles in reqular polugons
besor Onges : :
The anges erclosed by the Sum of the interior angles = (5 — 2) x 180 I Exterior ange = 360 + 8 = 45°
poljgon «— |
¢ I Interior angle = (8-2) x 180 = & x 180 = 135°
This shape can be made from I 5 8
three trianges

This is an irregular polygon
— the sides and angles are

Each triangle has 180°

Exterior angles in regular polygons = 360° + number of sides

Sum of the interior angles = 3 x 180
- H40°

Interior angles in reqular polygons = (number of sides — ) x 180

dfferent sizes |

Remember this is all of the interior angles added together

|

|

|

|

|

|

I I
|

|

|

number of sides :



https://www.bbc.co.uk/bitesize/guides/zj2tyrd/revision/1

FVELOPING NUMBER, ..
Number Sense

lWBa_t dlreedtobe b 1| Pewors |
| to do?

: Bg the end of this unit you should be able to:
| Round numbers to powers of 10 and | sf
| ¢ Round rumbers to any dp

| * Estimate soltions
I

I

I

Significant: Place. vale of importance

Round: Making a number simpler but keeping its vale close. to what it was
Decimal: Place. holders after the decimal point

Overestimate: Rounding up — gves a solution higher than the actual value
Underestimate: Rounding down — gives a solution lower than the actual valve
| Metric: O system of measurement

| Balarce: The amount of money in a bark account

| Deposit Putting money into a bank account

* Cdkulate vsing order of operations
* Cdeulate with money, units of
measurement and time

370 to Isignificant figure is 400
37 to Isignificant figure s 40

I

I

I

5475 to the rearest 10 37 to Isignificant figure is 4 I
I

I

I

5495 to the nearest 1000

|
|
|
| @D
|
I

5475 1o the nearest 100

D

037 to |significant figure 5 04
000037 to Isignificant figure i 00004

| Round to the first non-zero number

GOE)O 5400 3470 1

i_Round to decimal places  2.46192 — oo onthe numbers I Estimate the calculation Round to | significant figure to estimate

fer the decimal pont. ||
I “To ldp” — to one number after the decimal after the decma pon :

1 2dp” —to two rumbers after the decima 1 42+67 =4+7 =l This 15 an overestimate because the 6.7 was rounded up more
| 240192 to 1dp) -k the choser to 24 or 25 A 4 0192 tT:: Shovbﬂ :: \The equal sign changes to show 1t i an estimation

r . ) nurber s
: 24 1 ohertods |l Al4x3.1 =20x3

|
| A.40192 o 12dp) - k ths closer to 246 or 247

|
A 46 92 Thsshons the |

helps you idertify calculation errors

V\number s closer |

to 246 ||

It is good to check al cakculations with an estimate in all aspects of maths — it

|
|
|
|
|
=~ 00 This is an underestimate because both vales were rounded down :
|
|
|
|

| I Order of operations o 11 Calculations with money

| Br mkets Operations n brackets are cakulated first | | Deht - You have £0 or more. in an account Morey cabultions are to
1

e Use am (moming) and pm- (afternoon) )

0- 11 (morning hours)

| Capacity vobme of lqud) = ml, L
12-23 (afternoon hour%

|
|
|
L o |
I Othef operations eg powers, roots, 2dp ‘% {g AU & ) I
: MU'tIP[lCﬂtl / DIVISI on :I Cfedlt - You have less than £0 in an account : ‘ I
| They are carried out in the order from kft to right in the g5 5 plgs I
| 4uestion Using a caleulator — ensure you are working in the e 5 “‘.{0 «@ :
| Oddition/ Subtraction correct unfs - ey TR |
£130+50p = 130 +50 (i pence) £1-=100 e N
They are carried out in the order from kft to right in the - p = 3 a0 |
| = 130 + 050 (in pouinds)
Iipestlon |
(Unite are. important: Useful Conversors 10 +100 <1000 - 1000 -1000 |
Units are important UL . g g RNy |
I — — — «— I
|_______________________XE’__XE"’__X_“E"_____:1200______X_1ﬁ’f’____|
_______________ r——————————————————————————————————
| Metric measures of |€n0Jth : | Time and the calendar % 12 Months = one year = 52 weeks Lday — 24 hours :
| Hio = 1000 x meter Centi - — x meter 1 g S 3| daus — Jan, March, May, Juy Thour - 60 mnutes
| 100 | | 7Y Oug, Oct, Dec I minute — 60 seconds |
1 I | © 1 Year — the amount of time it 30 das — Opri Jure, Sept, Nov :
| M- Tooo ¥ meter | | tokes Earth to oo around the 28 days — Feb (29 kap year)
I_ ______________ 11 sun 365 (and g quarter) days L week — 7 dags Use a number e, for :
vty Leap Year — 366 das (every Mondau, Tuesday, Wednesda time calculations!
I Units of WCMht/ C&P&Cltu | | oraioste. Clock 4 wears) Thursday, Friday, Saturday, Sunday :
! ¥ o Dital Clock (24-hour tines] |
| Weight - g kg t | = LA-hour clock g 24-hou clock
| | > |
|
|

* Only use hour times vp to 12



